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Wt B AALTE HiH B e AR FeA
110010400015 FHBR L 110/01/04 1,000 | fERE> K Bk
110010400016 PR ECAE 110/01/04 1,000 | fEHE> K IR
110010400017 B 110/01/04 1,000 | fEHE> K IR
110012000003 | T35 MRzt G5 EARA S & (rRih | 110/01/20 20,000 | fEHAZ 5 TRk
110032600001 ERE 110/03/26 1,000 | fEHE> K ik
110051200005 S ER = 110/05/12 773 | R 5 IR
110051200006 HEh =2 110/05/12 866 | fERf 5 IR
110051200007 HEER = 110/05/12 739 | RS 5 IR
110051200008 XS =A(E 110/05/12 804 | fEHE> 5% 1520
110051200009 =58 110/05/12 199 | > % Bk
110051200010 S g = A 110/05/12 600 | fHERH 52 Bk
110051200011 R R 110/05/12 2,066 | fEHE R Ik
110051200012 2 110/05/12 710 | R 52 Ik
110051200013 S 110/05/12 401 | fEEE 520
110051200014 HEEh 110/05/12 1,007 | fEEE> % K
110051200015 HEERfE 110/05/12 391 | fEEg 52 Ik
110051200016 e 110/05/12 404 | B R TEEK
110051200017 B =1 110/05/12 653 | R 5 Bk
110051200018 5 110/05/12 12| @R TEEK
110051200019 HEEH=H 110/05/12 1,905 | fEHE> R Bk
110051200020 =2 110/05/12 404 | B R Ik
110051200021 St = 110/05/12 2,749 | fEEE R Ik
110051200022 S 110/05/12 1459 | fER 2% IR
110051200023 S 2 110/05/12 1,630 | fEHE> R K
110051200024 S 110/05/12 1,250 | fER % K
110051200025 5 110/05/12 1,061 | fEEfZ 5% K
211065A080 EEEHEENZEESE 110/06/07 4,500 | fEHAZ R | ECREEAIFHED

Gt 48,583
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